Lesson 4-1

Exit Ticket

1. The baby zebra at the zoo weighs 63.8 pounds. The baby horse
at the farm weighs 98.2 pounds. Which equation would give the
most reasonable estimate of the difference between the weight
of the baby horse and the weight of the baby zebra?

A. 90-60=30 B. 98 —-64=34
C. 99-63=36 D. 93-68=25

2. One box of books weighs 24.83 pounds. A second box of books
weighs 31.27 pounds. Which equation best estimates the total
weight of the two boxes of books?

A. 31—-25=6 B. 20+30=50
C. 24+30=54 D. 25+ 31=56

3. The height of a bush is about 76.47 centimeters. The flower next
to it is about 19.62 centimeters tall. About how much taller is the
bush than the flower?

A. About 50 centimeters B. About 56 centimeters
C. About 96 centimeters D. About 100 centimeters

4. Evanrides his bike 9.31 kilometers on Monday and 13.59
kilometers on Tuesday. About how many kilometers did Evan
ride on the two days?
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